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FMASTER that automatically
Assamese worlds into non-english-
field and inserts number of total words
al-word field. For example, if the
is “Kaziranga (1%si) is famous
rhino.” ; ‘ifee’ Should be

i ically inserted into non-english-part
~ field and total-word should be 6. 10

or

&) Consider the following table structure
" Bill (b-4d, bill-amount, amount-in-words,
 bedate)

6. Consider the following tables

STUDENT
Sid [ Smame | Gender
T [ Manash | M
) 2 | Smat F
3 | vishw M
4 | Jiumoni | ™
SUBJECT
STd | Subname | Semester
1 | Data Mining | sth
2 C st
3 DBMS st
MARKS-TABLE
mid | sid | sub-id marks!
1 T 2 9%
B 2 7 7
3 4 2 8
4 1 5 -
Write SQL statement t0 ; 5x3=15.

(a) Display name of the male students whose
email-ids are not available in database.

3MCA (NC) DBMS13/D
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OBJECT ORIENTED PROGRAMMING
AND DESIGN

Paper : 305
Full Marks : 75
Pass Marks : 34

Time : Three hours

The figures in the margin indicate full marks
Jor the questions.

(Answer Question number 1 and any four from the
rest)

1. (@ What is object-oriented methodology ?
Describe the three models used to implement
it 1+6=7

() Distinguish between the following
2x4-8

(i) Dataabstraction and data encapy
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the instance diagram
essosiation — “Person who are

 are aggregation and mﬂmmv

4+4=8

event and states of dynamic

Expan e conspt of g
4+3=7

2 fora “Canteen

3MCA(NC)00P&DD 3

Explain the life cycle of  thread. Write a
progam in java to demonstrate
5 ization of thread. 4+6-10.

() State the features of java AWT. 5

(@ Explain briefly about the different steps of

Object Oriented Modelling Technique
(M), 7

(b) Explain the various notions used in object
and class diagram with the help of a suitable
example. 8

Write short notes on : (any three)  3%5=15

(i) Java Virtual Machine

(i) Metadata

(iii) Aggregation vs Association

(iv) Event genenalization

(¥ Multi-Threading.
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COMPUTER GRAI
MULTIMEDIA

Paper : 302
Full Marks : 75
Pass Marks - 34

Time  Three hours.

The figures in the margin indicate full marks;
Jor the questions.

Answer any five.
1 Answer the following questions : 3x5=15.
(g}/f/x;lam Random and Raster scan display.
(5 What is image compression?

/K Define inking and Zooming.

(@~ What is hypertext and hypermedia 2
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circle drawing algorithm
10

n
n ‘integraph’ function. Write a C++
draw a line on screen accepting

es from the user. 5

iving example what is device

‘and world coordinate ? 5

. Using Cohen Sutherland
algorithm, find the visible

line segments PP, and PP
TR 5

@/W\m is MIDI messages ? Explain its uses.
3125

5. (0 uplan various types of transformlion. 7

B/ What is morphing ? Wit the stages of an
animation sequence design. 3+5-8

6. (q)-What are the various multimedia file

formats ? 4
() Wite about sound compression. T
(c)/Fxplain a refresh cathode ray tube

technology. 5

3MCA (NC) €G & M/D
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3 MCA (NO) §§ 1
2013
(December )
SYSTEM SOFTWARE
Paper : 301
Full Marks : 75
Pass Marks : 34
Time : Three hours

The figures in the margin indicate full marks
Jor the questions.

Answer Question No. I and any four from the rest.

1. Choose the correct or best fit alternative :

1x15-15
(@) Analysis which determines the meaning of

a statement once its grammatical structure
‘becomes known
\y/)w;emamic Analysis
®) Syntax Analysis

(©) Lexical Analysis
(D) Synthesis
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(C) Macro pre-processor.

B) Al of the above Py

(0 In analysis, which determines the syntactic.
structure of the source statement is called

(A) Semantic Analysis
(B) Process analysis
(C) Lexical analysis gqﬁ‘-
(D) Function analysis
(@) Resolution of exterally defined symbols is

. performed by
of the assembler directive EQU is
: '}/() Linker

<address space >
e (B) Loader

(C) Compiler
(D) Editor

3 MCA (NC) SS 1 /D 3 . Comd.

F .
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er address origin
“address origin

expansion is called a

(&) Macro processor

BT Macro-preprocessor

(©) Micro-preprocessor

(D) Assembler

An assembler is

(A) programming language dependent
(®) syntax dependent

&f machine dependent

(D) data dependent

(m) In o two-pass assembler, the task of the
Pass 11 is to

(A) Separate the symbol, mnemonic opeode
(B) Build symbol table
(©) Construct IC

P Synthesize the target program

3MCA(NO)SS 1/D.
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A g
Differentiate between no

relocatable and self-r

®

(i) Real numbers

Integer

(i) Real number with optional fraction.

(i) dentifier .

(k) Consider the following grammar :
stmt > if expr then sumt
{if expr then stmt else stmt N
{ other

{,the grammar is ambiguous? If so
climinate ambiguity.

s

3MCA (NC)SS 1/D
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(b)  Consider the following grammar :

faE*ElEvE|E~EIE/EIETE|(E)I—ZIM
¥ Build the operator precedence matrix 4

Also construct the precedence table using
precedence functions f and g. s

5 W What is a shift-reduce parsing ? What are
B the conflicts during shifi-reduce parsing ?
2+4=6

(b) Whatis lexical analysis ? What kind of errors
can be deleted during lexical analysis ? 4

) LR (0) items for the Mwhal is LL (1) grammar 2 1
5

(@ Do the left factor of the following: 2
6

5—>absa|aadb|b
A~>badb|b

\yf Define a handle. What is handle pruning ?
2

(NC)SS 1/D 9 gt
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2013
(December)
EMBEDDED SYSTEMS
Paper s 304

Full Marks - 75
Pass Marks : 34
Time : Three hours
The figures in the margin indicate full marks.
Jfor the questions.

Answer any five questions.

i \(}/ Define embedded systems ? Differentiate
microprocessor and _microcontroller

indicating their suitability in embedded
system design. 1456

B/ With the help of block diagram explain the

functions of different components of
‘embedded system. 9

Contd.
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'ROM. Wite a program to

COM stored in extemal ROM |
starting from 203 and store im’uﬂg;
RO, RI and R2. §

e 5 @/ When RTOS is essential for embedded

o8 design ? What are the additional services

“‘ﬂ,"‘l o provided by RTOS in addition o basic OS
A ? services. 35

| () What are the different options for
| implementing network embedded system ?
State basic features of CAN 344

(@) How software engineering concept is
important in embedded software
development ? 6

() Explain different issues in software
development process of real time
programming. 9

7. (a) With necessary diagram briefly explain how
a4 x4 matrix keyboard i interfaced with
8051 microcontroller ? Explain with the help
of a flow chart how a particular key is
identified.

i 3MCA (NO) ES 4D ol
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Paper: 303
Full Marks : 75
Pass Marks : 34

Time : Three hours

The figures in the margin indicate full marks
Jor the questions.

Answer any five questions.
/ha‘"mmummn 2 Explain INF, 2NF, 3NF and.
BCNF with example. 5410415

2. (@ Whatis the difference between ‘nextval’ and
“currval used in sequence ? Wite thesyntax.
for creation of sequence. 5
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a Guwahati based software
ent firm needs to design a database for
that deals in house building materials

| or part payment at any time. The
dealer (client) wants a software

5

(@)

[

o)

(a)

bill. The bill should indicate pre

balance amount of the customer along
the current bill

To maintain record of ll the payments of
al customers.

%3
To automatically adjust the stock after each- IM
sall and purchase

To automatically adjust the record on
cancellation of any order.

How can ER diagram help BIT service in
designing the database 2

Draw the ER diagram to fulfil the above
requiremens of client 5+410-15

What is trigger ? Can you use : Old in.
an update trigger ? Can a function call
a trigger ? Explain in support of your
answer. 3

3IMCA(NO)DBMS13/D 3 Contd.




